
Quiz #3 Aristotle and Crito 
There is 1 answer per question. For True/False questions please fill in A for true and B for false. 

1. Aristotle says this lies between excess and defect: 
a. The middle road 
b. The golden mean 
c. The fixed point 
d. The great divide 

2. Telos​  roughly translates to: 
a. The middle road 
b. Practical Wisdom 
c. Going towards 
d. Dialogue 

3. Socrates says that we enter an agreement with the state which is unspoken. This is what we call a 
________ agreement. 

a. expected 
b. tacit 
c. parental 
d. unknown 

4. Which of the following does Socrates NOT say in the ​Crito​ ? 
a. We should disregard the opinion of the masses 
b. The state is like a parent 
c. It would be wrong for him to escape 
d. He was forced to stay in Athens 

5. True or False: Aristotle believes that adults, children, and most non-human animals are capable of 
Virtue 

6. Ultimately, Aristotle believes _________ is the purpose of human activity 
a. The afterlife 
b. Knowledge 
c. Happiness 
d. Pleasure 

7. In The Apology one might characterize Socrates as __________ whereas in The Crito, he is far 
more_____________ 

a. Cunning and Complacent 
b. Obedient and Disobedient 
c. Young and Mature 
d. Social and Reserved 

8. Ethos​  roughly translates to which following concept: 
a. Ethics 
b. Care 
c. Harmony 
d. Habit 

9. Who is responsible for bringing charges against Socrates? 
a. Plato 
b. God 
c. The Oracle 
d. Meletus 


